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Reading
Judicial Organization

Superior Courts. The highest court is the House of Lords, which exercises the judicial function of Parliament. In theory appeal to the House of Lords is an appeal to the whole House but in practice, particularly since the Appellate Jurisdiction Act, 1876, created a group of salaried life peers, the Lords of Appeal in Ordinary, or “law lords”, there is an established convention dating from 1844 that lay peers do not participate in judicial sittings of the House. Appeals are referred to an Appellate Committee of the House. By that Act an appeal must be heard by at least three of the Lord Chancellor, the Lords of Appeal in Ordinary, and such peers hold or have held high judicial office. The House has almost entirely appellate jurisdiction only, in civil and criminal cases from the Courts of Appeal in England and in Northern Ireland and in civil cases only from the Court of Session in Scotland. 

The Court of Appeal sits in both civil and criminal divisions. The Civil division hears appeals from the High Court, county courts, the Restrictive Practices court, certain special courts, and certain tribunals, such as the Lands Tribunal. The Criminal division hears appeals by persons convicted on indictment in the Crown Courts. 


The High Court in its civil jurisdiction is divided into three Divisions (Queen’s Bench, Chancery, and Family to each of which certain kinds of cases are assigned. Divisional courts of each of the divisions, consisting of two or more judges, have limited appellate jurisdiction in certain cases. The main civil jurisdiction is exercised by single judges hearing cases of the kind appropriate to the divisions to which the judges belong. 

The criminal jurisdiction of the High Court is exercised exclusively by the Queen’s Bench Division. A divisional court of two or three judges of that Division deals with appeals from a Crown Court and magistrates’ courts, and also exercises the supervisory jurisdiction of the court to ensure that magistrates’ courts and inferior tribunals exercise their power properly.


The Crown Court, created in 1972, exercises criminal jurisdiction and sittings are held regularly at major towns throughout England and Wales. It comprises judges of the Queen’s Bench Division of the High Court, circuit judges and Recorders (part-time judges). They sit singly with juries trying persons charged on indictment with crimes. A judge of the Crown Court sits with two to four justices of the peace to hear appeals from magistrates’ courts and proceedings on committal by magistrates to the Crown Court for sentence.


The Central Criminal Court, known as the Old Bailey, is a sitting of the Crown Court, having criminal jurisdiction only, over indictable offences committed in Greater London or on the high seas. The court consists of ex officio judges and in practice consists of judges of the Queen’s Bench Division, the Recorder of London, the Common Serjeant, and certain additional judges of the Central Criminal Court.

Inferior courts. County courts have exclusively civil jurisdiction, which is limited in extent and in area, and which is entirely statutory. The judges are persons who also hold office as Circuit judges of the Crown Court. 

Magistrates’ courts consist of a stipendiary magistrate or of from two to seven (usually two or three) lay justices of the peace; a single lay justice has a very limited jurisdiction. Magistrates’ courts have civil jurisdiction in relation to certain debts, licences, and domestic proceedings. In the exercise of criminal jurisdiction one or more justices may sit as examining magistrates to conduct a preliminary investigation into an indictable offence. A magistrates’ court may try summarily many minor statutory offences, and also certain offences if the prosecutor applies for the case to be heard summarily, the court agrees it is a suitable mode of trial and the defendant does not elect jury trial. Cases may be appealed to the Crown Court or defendants remitted for sentence to the Crown Court. 

David M. Walker, The Oxford Companion to Law
1. Read the text and fill in the diagram using the words in the box:

	The Crown Court
	County courts


	House of Lords

	High Court ( Queen’s Bench Division)
	Court of Appeal ( Civil Division)
	High Court ( Family, Chancery and Queen’s Bench Divisions)

	Magistrates’ courts
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2. Answer the following questions with the help of your completed diagram 

1. What are the two main areas of jurisdiction of English courts?

……………………………………………………………………………………………

2. Which courts exercise jurisdiction in both areas?

………………………………………………………………………………………………………………………………………………………………………………………..

3. Which division of the High Court has criminal jurisdiction?
…………………………………………………………………………………………
4. What is the maximum number of appeals in a civil case?

…………………………………………………………………………………………
5. And in a criminal case?

…………………………………………………………………………………………
3. Decide if the following statements are true or false. Quote the line numbers to support your answer.

1. When the House of Lords sits as a court, it only hears appeals. ……. Lines:…………
2. The House of Lords is the final court of appeal  for civil and criminal cases in the UK. …… Lines:……………………..
3. The three Divisions of the High Court each hear different kinds of cases. ………… Lines:………………………
4. A jury is present in the Crown Court for all civil cases. …….. Lines:…………………
4. Match each of the words taken from the text  with  ONE suitable definition .

	Word
	
	Definition

	
	
	a) without a jury

	1. lay 
	
	b) a room  in a  building where people work.

	2. indictable
	
	c) without attention to small details

	3. sitting
	
	d) a session

	4. summarily
	
	e) non-professional; not an expert

	5. office
	
	f) serious act which may be tried by a jury.

	
	
	g) a job or position in public service

	
	
	h) a trial

	
	
	i) able to cause harm


1. ……
 2….

3…….

 4. …

5. ……
Listening
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You will hear three different extracts.

For questions 1-6, choose the answer (A, B or C) which fits best according to
what you hear. There are two questions for each extract. Each extract will be
played twice.

ExTRACT 1
You will hear a conversation between a lawyer and his client.

1 Why has the client come to speak with her lawyer?
A She is being sued by her neighbour over property rights.
B She is contemplating taking legal action against the seller of her house.
C She would like to create an easement on her property.

2 What does the lawyer say about the next step in the client’s case?
A He believes that more information needs to be gathered.
B He suggests beginning negotiations with the neighbour.
C He wants to file a suit against the former owner of the property.

ExTRACT 2
You will hear an associate lawyer who works for a large law firm talking about her
first year at the firm.

3 The purpose of the speaker is
A to report to one of the senior partners about her first year at the firm.
B to tell junior colleagues what they can expect in their first year at the
department.
C to inform her supervisor at the department why she would like to remain there.

4 She feels that her first year was a valuable experience because
A she was able to make many social contacts.
B she learned how to carry out research.
C she was continually exposed to new things.
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You will hear two partners discussing the performance of two young lawyers at
their firm.

5 What impresses the male partner about the lawyer called Marcus?
A his intelligent understanding of the subject matter
B his ability to work independently of others
C his willingness to help colleagues with their work

6 The female partner thinks that the lawyer called John
A should spend more time researching his cases.
B needs to review some essential concepts.
C ought to be more careful with routine paperwork.




Vocabulary

1. Complete each of the sentences with ONE suitable word. Do not repeat any word. 

1. Small crimes are ………………. in Magistrates’ courts in England.

2. Criminal Law is an area of the law which …………………with crimes and their punishments.

3. Serious criminal offences are ………………..by a judge and a jury in the Crown Court in England.

4. An advocate is a general term for anyone who speaks on ……………… of somebody else.

5. The court ………………..an injunction against the publication of the book.

6. A complaint against you has been …………………with the court.

7. The law firm is ……………..by two senior partners.

8. The Court of Appeal ……………….the decision of the lower courts and the appellant was set free.

9. The defendant was charged with …………………….in criminal activity.

10. I wanted to make a will so I hired a solicitor to ………………..the document. 

2. Complete the sentences with the correct form of the word in brackets.

1. The legal documents set forth the various ……………….of member states. (OBLIGE)

2. The parties were able to negotiate an out-of-.court ………………………..………. (SETTLE)

3. None of the …………………………..….got the job. (APPLY)

4. The main advantage of a ……………………………at a large firm is that you meet a lot of new people. (CLERK)

5. There were only a few partners in ………………so the meeting was postponed. (ATTEND)

6. No financial …………………….were detected by the tax inspectors. Everything was fine. (REGULAR)

7. The Bar Association is one of the………………………….. bodies of the legal profession.

(GOVERN)

8. The barrister behaved very ………………………..and was suspended. (PROFESSIONAL)

9. This law has been repealed so it is not ………………………. (APPLY)

10. The judges are ………………………………by previous rulings on similar cases. (BIND) 
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